F102EBAE LHERFEXRS

H8 :FER30E6H228 (£)~24H(H)
BT A EER S ARELRES

[EF100m]) (+0.6) [EEF110mH]) (+0.7) [ & F800m]
I 10705 WEE =K (€ 423 —) AR iva 13”7 36 *H KBE (BHEXKRE) FEARL 202”54 st = (ZTT44 V)
E241 10714 oY RE ( Nike ) E2fi 13”7 45 (=TT 72 (€ >y v) E241 203745 BR #&h (ZImEXD)
3L 10716 HE #F (B X 4 i ) 341 13”7 64 Heg #Fth ( K-plus ) E Kl 2'04”01 JIH XE (BEXBRXAXD)
F&E 10775(+0.1) A2+ (B K @ ) ERE 14703(+0.7) A (8 X @ ) E5h 2'06716 g BE ()8 X @ )O
10781 (+0.5) Rk B2z (B XK D) FE  14720(+0.7) 28 BN (B X @ ) = 216727 #lU FF (B X @ )
10748(-0.3) =8 = (E L& H2%) 14723(+1.1) Exr RE ( SACH29 Z )
[ F200m])(+0.8) [ 8 F400mH] (ZFEZ 8]
E14L 20734 BHE K (2 X /) F1 49730 BEX EBx (EF £ @& ) E1 1m80 e FHEt (B XK @ )
F24L 20”42 N HE ( AN A ) - Y2ivs 49”44 ZE EZE (THUFTC) FEofI 1m80 aE & (B XK ®)
- x1ivi 20746 T (B E X B®) - x!ivi 49”86 B 5  (Fyva-7-3-) 3 1m80 aE HE (BZ AKX XQ)
E5 20774 XE #H (E X Q@ ) EXY0 50736 T #HHEt (S X/ H25 %) Fohs 1m74 b #FE (I X @ )O
FE 21707(+0.5) X ;M (B XERE D) FiE 50”38 HE B (B XKk D)
52”13 BE &% ( 8 D )
54”15 B £EX (B X @ )
[ 8 F400m] [ 8 F3000mSC] [ZF=ExBk]
E14L 45”97 wALTa PayT7eien (R OE K @ ) Fift 8 29”7 14 ER f1bt (B X @ )O FIGL  13m09(+0.7) AR a3 (BXEWRNTC)
HEof 46”39 K&t b (KRB HR) Eor 8’ 34" 40 A s (B =Z I %) oL 13m04(+1.1) HAMEF (FMHEEHZAC)
E 34 46”57 FEFE D (B X ®) ¥F35 8 38" 24 i WE (A & 1) 3L 13m00(+0.6) & e (f1 & W O
= DNS Tt &8 (E X @ ) FE8 12m69(+1.7) of HFE (FE X @ )
[ 5 F800m] [BFEE ] [ZFMAEER]
1 1'48”35 Nz % (RA %R AC) E3Eiva 5m70 WA Bk (ba32BEFHE) FE14L 51m42 EE EF (BEEIS)
F 2 1'49”23 mAGREHR (B X Q@ ) F24L 5m40 i fEE (% K ®) 2L 50m62 sENEF (REKRKERD)
F 341 1'49”32 e E) (B X 3 ) F3{ 5m30 EEH KM (FE O+ @ ) F3M 50m09 B FEARE (AMHAIT KD
BT 1’5058 BR &2 (IE X BRR @ ) EFI 5m00 KR BMBI (RESA 84— H29%%) Y 49m40 B BEXE (BHRAKRBH9ZE)
E8hI 1'56” 64 HE E  (BH#HBEXAREFHH20%E)
TR 1’51739 E#EE BX (B X @ )
1’52740 ® B®H (BE KX @)
1'49792 X BEA (EL & H27%)
[ B FEiEBk]
F1HL  8m09(+1.2) BE B8 (B K @ )
[ 88 F5000m)] EoL  Tm95(+1.3) 3L IE ACER (€ >y v)
AR iva 1421752 fRER EE (b—T v 4H) B3 7m95(+1.3) A KB (A E )
E-p2iva 14'24”30 =g Hm (& kK8 1) FIL 7m77(+0.8) ne g8 (B X @ )
I klivi 1424786 Xt E (hHh r K D)
E146L 1438796 W 1E55E (8T &H27%)
[BF= k]
FIHL  16m59(+1.0) WT mFE ( AN A )
[ 88 %10000m] E2L  16m20(+0.6) Rl FE (R FHEAC)
1 28'30766 RAREFFE ( 8 & 8 ) 3 16m15(-0.3) WA EH (JAL H29 2 )
Hof 28'34”25 X —1E (Hh R K D) 6L  15m81(+0.6) Ne &8 (B X @ ) ©:HEAR
E3Mi 28'34”61 HmE £ (B b B ) #ofi 15m64(+2.4) MeREBA (B X @ ) O:v—RURZH
F146L 2859756 A B (Bidin H29Z) 13L 15m44(+0.6) B =Z=th (B XK @ )



